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(1) KZZEDERRTS A (2)REZLDFY, 1ZERE
>A_mean <- mean(A)
>A_mean
1112 =&z
> A <-¢(60,100,50,40,50,230,120,240,200,30) >B_mean <- mean(B)
>A >B_mean
[1165 ---&Z
[1] 60 100 50 40 50 230 120 240 200 30 > A var <. var(A)*(length(A}-Vlength(A)
> hISt(A) >A_var
[1] 6056
> B <- ¢(50,60,40,50,100,80,30,20,100,120) > B_var <- var(B)*(length(B)-1)/length(B)
-5 o
[1] 50 60 40 50 100 80 30 20 100 120 >A_std <- sqrt(A_var)
> hist(B) >A_std i
[1]77.82031 ---%&Z
> B_std <- sqrt(B_var)
> B_std
2 [1]31.70173 ---%&Z% 5
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> A z <- (A-A_mean)/A_std

>A z

[1]-0.6682061 -0.1542014 -0.7967072 -0.9252084
-0.7967072 1.5163138

[7] 0.1028009 1.6448149 1.1308103 -1.0537096

> B_z <- (B-B_mean)/B_std

>B z

[1]1-0.4731602 -0.1577201 -0.7886004 -0.4731602
1.1040405 0.4731602

[7]1-1.1040405 -1.4194807 1.1040405 1.7349208
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hist(aaa, breaks=seq(10,100,5))
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8 o csvI7AILELTREF—aaa.csv
& txt77 A JLELTHRTF —bbb.txt
- read.csv(‘aaa.csv’) RE(ANVH—) D BHDHIEH AR
read.csv(“aaa.csv’, header=FALSE) Ay&—hA7LMEH
o read.table(“aaa.csv’) ~NvA—HENZ EAVETIR
s 40 o5 0o os 10 15 20 read.table(“aaa.csv’, header=TRUE) ~"v4—h%H554E
Az 8 read.table(bbb.txt”) txtZ7 4 JLILread.table( )Z&{E A 14
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THART7A )L (table.txt)

No £&HT Al #F #it OETAN#HETANM #HEFTRM2 I5EX
1 KA B kL FE 13 6 10 c
2 X% B L @FE 14 10 13 B
3 BA & FE EL 6 6 14 A
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> thl <- read.table(“table.txt”) ~wH —HELAEHE
> tbl
V1 V2 V3 V4 V5 V6 V7 V8 V9
1 No. &#lT M3 2 #et DIBTAM MEtT AN HEtT A2 58%

2 1 K¥ B B s 13 6 10 C
3 2 X% B L FE 14 10 13 B
4 3 A K FE B 6 6 14 A

> tbl_ht <- read.table(“table.txt’, header=TRUE) ~v4 —h\$%H5i5&
> tbl_ht
No. &8 45 #2 #ist DETAS $EHTAM $EtT A2 58X

1 1KH 5Bk E 13 6 10 [
2 2K% 5k IFE 14 10 13 B
3 33BN XK IFE L 6 6 14 A

> hist(tbl_ht$iHIBF R k)

Histogram of tbl_ht$>EF2

16 tbl_htSiHETAN 1 9
COEUBRORE LoV I 7 AL ERHAAHET > mean(ibl htssthr721)
LRALTHS. (7.
> var(tol_ht$#f&t TR +2)
> table(tbl_ht$$5&;%) [1]4.333333
ABC > sd(tbl_ht$#Et TR 1)
111 [1]2.309401
> table(tbl_ht[,9]) > min(tbl_ht$#EtT 2 1)
B (116
ABC )
111 > max(tbl_ht$#EEHT AR 1)
[1110
17 20
> for (i in 6:8){print(mean(tbl_ht[,i]))}
1111
> tbl_ht[2,] [1] 7.333333
No. &R 3 $% #at DET R MiEtT AR HEtT A2 5&% [1] 12.33333
2 24% B B #HE 14 10 13 B
> tbl_ht[,4] > print("RIZEHRELLVTEETE")
(1] L0 L 2 1] "RIC& B PSLLEEEHE"
Levels: LY 57E
18 21




> Sta_z <- scale(tbl_ht$/HET R )
>Sta_z

L1
[1,] 0.4588315
[2,] 0.6882472
[3,] -1.1470787
attr(,“scaled:center”)  F1y
[1] 11
attr(,“scaled:scale”) ZERE
[1] 4.358899
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> tbl_ht$%%
[1] BRLY BELS 87
Levels: BkLY 37E

> as.integer(tbl_ht$#r=)
11112

> cor(as.integer(tbl_ht$%4%#),as.integer(tbl_ht$#fEt) )
[1] -1
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